



St. Louis County, Minnesota

Date of Report: 12/17/2025 7:18:36 AM

General Details

Parcel ID: 415-0010-03330 Document: Torrens - 1060344.0

Document Date: 06/17/2022

Legal Description Details

Plat Name: LAKEWOOD

> **Township** Range Lot **Block** 11

51 13

Description: NW 1/4 OF NW 1/4

Taxpayer Details

Taxpayer Name STONE ARTHUR G & COLLETTE M and Address: 2780 E LAKEWOOD JUNCTION RD

DULUTH MN 55804

Owner Details

Owner Name STONE ARTHUR G Owner Name STONE COLLETTE M

Payable 2025 Tax Summary

2025 - Net Tax \$3,363.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$3,392.00

Current Tax Due (as of 12/16/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,696.00	2025 - 2nd Half Tax	\$1,696.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid \$1,696.00		2025 - 2nd Half Tax Paid \$1,696.00		2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 5690 LAKEWOOD RD, DULUTH MN

School District: 709 Tax Increment District: Property/Homesteader:

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
204	0 - Non Homestead	\$99,500	\$179,200	\$278,700	\$0	\$0	-			
111	0 - Non Homestead	\$25,900	\$0	\$25,900	\$0	\$0	-			
	Total:	\$125,400	\$179,200	\$304,600	\$0	\$0	3046			





St. Louis County, Minnesota

Date of Report: 12/17/2025 7:18:36 AM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Nater Code & Desc:	W - DRILLED W	ELL				
Sas Code & Desc:	-					
ewer Code & Desc:	S - ON-SITE SA	NITARY SYST	EM			
ot Width:	0.00					
ot Depth:	0.00					
he dimensions shown are n	ot guaranteed to be s	survey quality.	Additional lot	information can be	e found at	
ttps://apps.stlouiscountymn.	.gov/webPlatsIframe/	frmPlatStatPop	Up.aspx. If th	ere are any quest	ions, please email Property	Tax@stlouiscountymn.gov.
		Improvem	ent 1 Deta	ils (RESIDEN	CE)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE	1955	1,3	48	1,348	U Quality / 0 Ft ²	RAM - RAMBL/RNCH
Segment	Story	Width	Length	Area	Founda	ation
BAS	1	8	42	336	BASEM	IENT
BAS	1	22	46	1,012	BASEM	IENT
DK	1	10	20	200	PIERS AND F	OOTINGS
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC
1.0 BATH	2 BEDROO!	MS	-		0 (C&AIR_COND, PROPANE
		Improvem	ent 2 Deta	ails (ATTACHI	ED)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
GARAGE	1950	26	4	264	-	ATTACHED
Segment	Story	Width	Length	Area	Founda	ation
BAS	1	12	22	264	FOUNDA	ATION
	<u> </u>					
		-		etails (SAUNA	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
SAUNA	1950	12		120	<u> </u>	-
Segment	Story	Width	Length	Area	Founda	
BAS	1	10	12	120	FOUNDA	ATION
		Improve	ment 4 De	tails (White S	T)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDING	1950	27	0	270	-	- -
Segment	Story	Width	Length	Area	Founda	ation
BAS	1	15	18	270	POST ON C	GROUND
		Improvem	ent 5 Dets	ails (DETACHI	ED)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
GARAGE	1950	Walli Fit		1,238	-	DETACHED
Segment	Story	Width	Length	Area	Founda	
BAS	1.2	30	33	990	FLOATING	
DAG	1.2					JOLAD
		-		ails (STORAG	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDING	1950	20	0	200	-	-
Segment	Story	Width	Length	Area	Founda	
BAS	1	10	20	200	POST ON C	GROUND

2 of 4





St. Louis County, Minnesota

Date of Report: 12/17/2025 7:18:36 AM

Improvement 7 Details (CPT)									
Improvement Type	Year Built	-	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
CAR PORT	2007			360	Dasement i illish	Style Code & Desc.			
Segment	Story	Width Length Area		Foundat	ion				
BAS	1	12	U		POST ON GF				
BAO	' '	· -				TOOIND			
Improvement 8 Details (Old House)									
Improvement Type	Year Built		oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1935	39		546	-	-			
Segment	Story	Width		n Area	Foundati	ion			
BAS	1	14	6	84	POST ON GF	ROUND			
BAS	1.5	14	22	308	POST ON GF	ROUND			
		Improveme	nt 9 Deta	ils (MH STORAC	GE)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1969	78	4	784	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	14	56	784	POST ON GF	ROUND			
LT	1	12	12	144	POST ON GF	ROUND			
		Improvem	ent 10 De	etails (QUONSE	T)				
Improvement Type	Year Built	•	or Ft ²	•	*	Style Code & Desc.			
STORAGE BUILDING	1950	42		420	Dasement i illish	Style Code & Desc.			
Segment	Story	Width		Area	Foundat	ion			
BAS	3.01y 1	15	28	420	POST ON GE				
DAS	ı	10	20	420	POST ON GR	KOUND			
		Improven	nent 11 D	etails (FAB CPT	7)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1995	24	0	240	-	-			
Segment	Story	Width	Length	Area	Foundati	ion			
BAS	1	12	20	240	POST ON GF	ROUND			
		Improveme	ent 12 Det	tails (GardenSh	ed)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1950	60)	60	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	6	10	60	POST ON GF	ROUND			
		mproveme	nt 13 Det	ails (WOOD SHI	ED)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	44		448	-	-			
Segment	Story	Width	Length		Foundati	ion			
BAS	1	16	28	448	POST ON GF				
2									
Improvement Torre	Improvement 14 Details (STORAGE) Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Desc.								
Improvement Type STORAGE BUILDING	Year Built 0	Main Fig 18		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
					- 	-			
Segment	Story	Width	Length		Foundati				
BAS	1	12	15	180	POST ON GF	COUND			

3 of 4





St. Louis County, Minnesota

Date of Report: 12/17/2025 7:18:36 AM

Sales Reported to the St. Louis County Auditor

No Sales information reported.

		As	sessment Histor	ry			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	204	\$99,500	\$176,300	\$275,800	\$0	\$0	-
2024 Payable 2025	111	\$25,900	\$0	\$25,900	\$0	\$0	-
,	Total	\$125,400	\$176,300	\$301,700	\$0	\$0	3,017.00
2023 Payable 2024	204	\$99,500	\$174,800	\$274,300	\$0	\$0	-
	111	\$25,900	\$0	\$25,900	\$0	\$0	-
,	Total	\$125,400	\$174,800	\$300,200	\$0	\$0	3,002.00
	201	\$95,000	\$174,800	\$269,800	\$0	\$0	-
2022 Payable 2023	111	\$24,600	\$0	\$24,600	\$0	\$0	-
,	Total	\$119,600	\$174,800	\$294,400	\$0	\$0	2,814.00
2021 Payable 2022	201	\$54,400	\$148,300	\$202,700	\$0	\$0	-
	111	\$49,200	\$0	\$49,200	\$0	\$0	-
	Total	\$103,600	\$148,300	\$251,900	\$0	\$0	2,329.00

Tax Detail History

Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV
2024	\$3,289.00	\$25.00	\$3,314.00	\$125,400	\$174,800	\$300,200
2023	\$3,291.00	\$25.00	\$3,316.00	\$115,037	\$166,405	\$281,442
2022	\$2,979.00	\$25.00	\$3,004.00	\$98,502	\$134,401	\$232,903

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.